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(1) (83 x+5)(3x—1)
=(A+5)(A—1)
= A’+4 A -5
=(3x)°+4X3x—5
=9x’4+12x—5
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(1) (3x+4)(3x—2)
=(A +4)(A —2)
=A‘+2 A —8
=(3x)"+2X3x—8
=9 x*+6x—8

(2) (45x—3)(4x—17)
=(A =3)(A —7)
=A’‘—710A+217
=4 x)’—10X4x+21
=16x*—40x+21

(3) (3 x+1)*
=(A+1)?
= AE2 A+
=(3x)’+2X3x+17
=9x’+6x+1

(4) (4x+5)°
=(A +5)°
=A+70A+25
=(4x)’+10X4x+25
=16x*+40x+25

(5) (3x+2)(3x—2)
=(A+2)(A —=2)
=A’—4
=(3x)'—4
=9x’—4

(6) (9x+4y)(9x—4y)
=(A+B)(A—B)
:AZ_BZ
=(9x)'"—(4y)?
=81x*’—16y"*

£ F A
— @ FEH 2 @ ~

WOHEE LIS,

(1) (x—3)*—(x—4)(x+2)
=(x*"—6x+9)—(x*"—2x—8)
=x’—6x+9—x*+2x+8
=—4x+17 —82, 83, 61 D3~
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(1) (x—3)(x+1)+2%
=x'Z2x—3%82x
=x?—3

(2) (x+2)"—4x

=x't4xt44x
—x’+4

(3) (x+3)(x—3)—x*+4x

=x'—9=x’'t4x
=4 x—9

(4) (x+3)(x—6)—x(x—4)
—x’—3x—18=x'+4x
=x—18

(5) (x—2)*+(x+3)(x+1)

=x‘4xt4tx’+4x+3
=2 x2+7

(6) (x—4)*—(x—5)(x—3)
=x’—8x+716—(x*—8x+15)

=1

(7) (x+2)(x+3)—(x—6)(x+1)
=x’+5x+6—(x*—5x—6)

=10x+12



